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.
[States of nature)

ninuw a1
(strategies)

*2

*3

91 92 ............ *j

X11 X12 .......... .fj

x21 x22 .......... x4

x3l
x32 .......... x3j

/3l .-xi* . ..*......  xij

tuO*, e2.. .... ej ~mb-mn9rtiflnS’jl (9tate~ of nature)

al, a2.. ....ii bnlnwtl (Strategies)

ua: x11,  x,p.....xij %mnouunu  (Pwoff)

&I r;71;  action set = A

A = ai ; i= 1,2 . . .I !I

un:lHI state set = s



30 150

- 40 180 I



state ofnature
Aat

5 % O3

al 2.5 1.5 - 1 . 0

82 1.6 2.0 0.0

a 1.2 1.2 0.0')



EP(a,) = 2.5(4/7)tl.5(2/7)+(-1.0)(1/7)  = 1.7143

EP(a2) = 1.6(4/7)+ 2.0(2/7)  + 0.0 (l/7) = l-4857

EP(a3) t 1.2(>/7)+ 1.2(2/7)  + 0.8(  l/7) = 1.1429

Act

*1

a2

a3

stats ofnatum

81 5

2.5 1.5 - 1.0

1.6 2.0 0.0

1.2 1.2’ 0.8
‘



2 1 3

BL(a,)  = 0.0(4,+  +  0 . 5  t2,+ +  1.8(1/y)  = 0 . 4



2 1 4

State

Act

Ol O2 O3

al 2.5 1.5 - 1 . 0 - 1 . 0

a2 1.6 2 . 0 0 . 0 0 . 0

a3 1 . 2 1 . 2 0 . 8 0 . 8



2 1 5



2 1 6

H = 2(max  ) + (1 -00 (min)

t

rmmmwm-qn

Act
(Max. Payoff) (Min. Payoff)

al 2.5 - 1.0

a2
2.0 0.0

a3
1.2 Or8



2 1 7

t

Act

al

a2

a3

State of natux

el e2 e3

0.0 0.5 1.9 1.8

0.9 0.0 0.S 0.9

1.3 0.8 0.0 1.3

7. LtT&'i)3*7llo17$  (Laplace  Criterion)

Insufficient Reason)

n

,
tTmJ7\1 m-mm Payoff

!

State of nature
Act O7 O2

0

81 i.5 1.5 - 1.0

a2 1.6 2,o 0.0

a3
1.2 1.2 0.8

1 4

7-r;;unnoll~~MuR7n~~~~~upln:nlw,u~Ju'

EP(a1) = i (2.5 + 1.5 - 1.0) = 1.0r

EP(a2) ~(1.6  + 2.0 + 0.0) = 1.2=
3

EP(a$ +* L(7.2 1.2 += 0.8) = 1.13



a

flitlUr1~~  State of nature ~$14 random veriable

iiT(e)

f(z,e)

f(z,s)

UIZ f(z)
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f(elz)
= +%-

=
+TF

e 4
f(el2) lib Posterior probability me imniwun

2 = z
t

ii33Ul~

n%mlG

i f(zie,) f(zb,)

9
.0 .l

"2
.2 .9

I

~?"nlr~orl; f(a,) = f(2,~+?(0,)  + f(z,(e*M2)

= (.8)(.7)+(.1)(.3)  = .59
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f(z ) = f:z*le,).gb,)  + f(z2~e*Lg~e2)

= c.2JC.7)  + (.9)(.3)  = .41

&T.l lll?l f(z$  + f&I ikl Ai 1 1 fi!JB

Posterior probability v?l;K4lv'jug

fb,j x2) = f(z*Q.g(e,)
~p*p.gw

f(e21z,) = f(z,le2Lg(e2)
- -

Ig f(z1le) .g(e)
= (.1)!.3)  = 1

- 59 59

f(e21z2)  = f(z,le,) .Skq
1 f(z$d .g(e)
6

= (.9)(.3)  =
.41 s

Posterior probab~1ityiillf'iU~~~Unlfl~~n7  &yes'  Stategy

inunm7 Posterior expected loss
.I
'iIQ  Posterior

expected loss
44

"lunStuwu  data

v17Gvm

E i.i(e,ad = 1 b(e,a).f(e(z)

&&n d
action M Minimize posterior

expected 1ossMS action iflnY~im--L  &yes'  action

M&l Biyes's  strategy
I

Eli?DfJW  13JM7  Rayes' Stategy n*wn?MY

Prior Probability function lhd!



2 2 1

f(zle,) f(zls*)

"1 .8 .l

22 .2 .9

,

I 8 *1 02

.

LM s Posterior probability



1 1
y”r

“1IQlSW~ Posterior expected loss FIngu

1
LMI Z= 7 ;-P  [ue,  a$ = x I(e,a,).f(e/a,)

c.L

= 4x&)+4 (2 = a&
59 59 53

I
lilti z=z2;  -h [Ji(e, a,)] = ,J- P(e, a,).f(e\z,)

= 4x14 T-4 x2-7 '64
41 $7  = 41

t
l&l z =z, ; E k(e, a211

L I
= ,zp(e,  a2).f(e(z,I

e

= 5x.&g+ 0x2-J-= 70-

41 41 41

lita z=z
1

= 27is + 5,3,.. = 127
59 59 59

lib 2x2

E [k(e, aj)l = s pie,  a,) f(e)z,)

= 2*14+5%Z = 163
41 41 41

n7r7-4 Posterior expected loss



2 2 3

,,

=1=1
zz
22

2%2% I&“_I&“_
a1a1

_-.-_-.-
5 95 9 4141

280280 lLlL
a2a2 5959 4141

127127 163163.-.- .__.__
a3a3 5 95 9 4141

Bayes ’ Stategy &t&m action a i

2. iI z=z2
WI

&yes'  strategy k a- irrrwlauw  a2  lUR7  Posterior

expected loss i


